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(a) 0.995[A]
(b) 4.975[W]
(c) 189.4 [W]

0.893[1F]

o

5

2.3
24
2.5
2.7
2.8
2.9
2.10
2.11
2.12
2.13
2.14
2.15
2.16
2.17
2.18
2.19
2.20




3 Bryiorzroiay
A
3t A=A Bet
Hs gl
(a) 4.95[A]
31 (b) 7.78 [A]
’ (c) 1,209.6 [W]
(d) 0.707
32 i
' T/s[s,rms
33 | 4,(t)=50.2]sin (et —0.646)+ 0.602¢ "]
(a) 99V |
34 | (b) 19.8[A]
(c) 1,960 [W]
35 | 0.416[H]
(a) 92.39 [V]
b) 18.48 [A
16 (b) [A]
(c) 30.7[A]
(d) 4,712 [W]
(a) 74.3[V]
37 | (b) 403 [W]
(c) 0.63
(a) @ = 90°
38
(b) 0.866
39 \/1 a si2q
2  2r 47
310 | A3=F
3.11 | 13.39 [mF]
312 | L, = 0.389
]L
(a) 198[V]
b) 19.8 [A
313 (b) [A]
(c) 3,920 [W]
(d) 14 [A]
314 | 22
T
(a) 169[V]
(b) 16.9[A] (23.4.19 =& =)
3.15 | (c) 20.98 [A] (23.4.19 2A=])
(d) 20.98 [A] (23.4.19 227 =)
(e) 0.9536 (23.9.7 2=~A=)
316 | pr= [1- %4 SN2
' s 21
317 | A=
B & Olslist= M ArEsH2I)_EHOthwp




H3 Srgllorzraial
[D,avg = élo
3.18
= 1,
Dys \/g
(a) 514 [V]
(b) 25.7 [A]
3.19 | (c) 21.1][A]
(d) 13,323[W]
(e) 0.956
3.20 | Ak
(a) 216.8[V]
301 (b) 14.45[A]
(c) 6.16[A]
(d) 0.985
322 | Aj=F
3.23 | 946[W]
(a) 97.27[V]
3.24 | (b) 6.485[A]
(c) 9.17[A]
(a) £=1.982°
325 (b) V,=169.77[V]
(a) £=12.36°
326 (b) V, =238.3[V]
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H2 SreiorFroio

L S Horkit Acede

FAAY ¢ 24[V]
41 | AF Y= [, =3.6[A], I, =1.2[A]
g EE : 0.625
SEZF 0 D=0.3125
42 |oldg g : L=1.03[mH]
AIAIE] FL 0 C=41.7[pF]
SEIY - D=0.4
QlelE 37] : 0.4[A] ~ 3.6[A]
AYE Mazh: Iy =2.2[A]
4.3 AMAIE 7] : 100[mF]
- A[L
AMAIH AF A = 1.6[A]
AIfATE A&k ¢ 0.92[A]
44 | L > 43.754H
4t Agzt : 50.56[mA]
~ | E¥FY EE - 2.3mV]
46 | Ip,ipp. = 50.56[mA]
47 | qv = (DT (V.= V)= LLIDT (V.= V,)V,= LLV,+ (Vi= V)DT (V= V,)—
' o 2LCV,(V;—V,)
1 AILV,
T: —_— M —
fov,(Vi=7,)
48
L = 333.3[xH]
C=156[xF]
49 | Ly, = 9.375[xH]
410 | L=450[pH] , C=16.7[uF]
411 | L,,;, =50.1[¢H]
412 D=0.6 , 4, =0.72[A] . I,;, =0.89[A] , I .. =1.61[A], 4V, =34.1[mV]
' (23.9.7 3R
413 | L =100[xH], C=50][y]
V,=30[V], I, =15[A], I, = 14.1[A], I, =15.9[A],
4.14 g
7 1.2[%], I,=6[A]
415 | L=4.8[xH], C=10.42[xF]
416 | L=13.87[¢H], C=177.9[uF]
417 | V,=16[V], I,;, =0.3[A], 2]Z& : 0.5%
418 | V,=18[V], 4V,=163.6[mV], ;= 2.25[A], I, = 4.326[A]
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it Acade:

V,=225[V], I, =5.625[A], I,,. =7.7875[A],

4.19 g
I, =3.375[A], 128 [%]
420 | D=0.6, L, =7.2[¢H], C=67[uF]
421 | dip = 0.24[A], di; = 0.48[A]
D=0.6154, f=100[kHz]
422 | L, =313[pH], L, =256[xH]
C, = 3.07[¢F], C,=1.88[xF]
di;, =0.15[A], 4i;, =0.15[A]
di;, i,
=22.5%, = 15%
423 | I U I ’
a4V,
AV =4[V], =—=%L=16%
Va
I;; = 8.1667 [A]
424
I, =3.5[A]
D=0.375, I;; =1.2[A]
425
L, =7.81[mH], L, =4.69[mH]
D=0.583
426 | L, =1.8219 [mH], L, = 2.5499 [mH]

C, = 13.88 [¢F], C, =2.555 [uF]
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58 dawAl B

V, = 188.57[V]

52 | dv,=2.25[V]

5.3 vV, =180[V]

54 | dv, =3.5[V]

55 | V,=240[V]

56 | V,=120[V]

57 | V,=320[V] (23. 9. 7 $A4)
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I
b

(a) 9 XMFo] Gk @ 13.33[A]
&3 M7 Aagt: 16.33[A]
(b) BoF A7 Hak © 13.33[A]
6.10 B3t A2 g7k 16.33[A]
(c) 299 A7 Hgk : 6.67[A]
201X A2 AG7F: 11.54[A]
(d) A=k
@ D=1¢d o
2 A 7|20} Aayt oV, =180.06 [V]
RMA| nxu; Algg 1 vV, =87.05[V]
6.11
® D=0.8Y uj
2 AY 71en dagh v, =160.43([V]
RMA nxo Aggh V,=87.05[V]
(@) V,,me=115.47[V]
(b) V,;=90.03[V]
(@) Vi poar = 4900 sinn (r—2a)
T n
(d) THD,=0.8031
6.12
(e) I, =11.547[A]
(f) 1,; =9.003[A]
42001 B
(8) L poar = — 10 » sinn (r — 2a)
(h) THD, =0.8031
(a) 371
(b) 0.7= %(1 —2cosa; +2cosa, — 2cosas)
41
0= ;g(l —2cos5a, + 2cosba, — 2cosbas)
1
613 0= %%(1—20057&1 +2cos7a, — 2cos7ay)
(c) 28 AUo] Uazt %Vdm/(b%*'bg*'b?*'b%l""“)
y _ 1
(d) 712mte] Magh ﬁVm b,
(@) V,1rms=14.14[V]
6.14
() L1, = 1.129[A]
(@) V,1rms=28.28[V]
6.15
(D) L1, = 2.258[A]
(@) V,1rms=28.28[V]
6.16
() I,1,,.s = 2.258[A]
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H2 BreiorFroio

(a) Vub,1, peak — 22053[V]
(b) V,, =163.299[V]
(c) V.1 =155.939[V]
6.17
(d) VvV, =94.28[V]
(e) an,1l 90'03[V]
(f) THD,=0.3108
v
618 (@) Vo1, pear = 110.266[V]
(b) Us,1, peak = 6.366 [A]
(@) V,,=81.65[V]
(b) V1 =77 97[V]
6.19 | (c) V,, =47.14[V]
(d) V., =45.02[V]
(e) THD,=0.3108
(a) 1,, =7.19[A]
6.20
(b) THD. = 0.311
(a) [a 1 —8 42[A]
6.21
(b) THD: =0.312
(a) J;) 1 4 98 [A]
6.22
(b) THD; = 0.307
(a) V,, =35.36[V]
6.23 | (b) V,;, =61.23[V]
(c) V,,=135.36[V]
(a) I, =3.536[V]
6.24
(b) P, =375.52[W]
(@) V,, . =44.098[V]
(b) VLL 1,peak — = 106. 51[V]
6.25 (C) VLL 1,7 ms =175.31 [V]
(d) V., =12.74[V]
(e) THD =0.1692
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He  gel
i, (t)=1 + Y t—1I t
7 =1, + 5 slnwyt — [,cosw
71 | Zy, 7 0
vol(t) =V, — I,Zysinwyt — V;cosw,t
fo=67[kHz]
Model: 0.433 [ps]
75 Mode2: 2.99 [us]
Mode3: 2.765 [us]
Mode4: f =8.737 [us]
73 | 251.6 [kHz] < f, < 252.2 [kHZ
74 | AJeF
(a) fo=1.33[MHz]
75 | (b) Q=1.84
(c) V,=21.95[V]
(a) fU =896.7 [kHz]
76 | (b) Q=1.18
(c) V,=15.44[V]
L = 31 82 [ pH]
77
C. =179.6[nF]
78 | Ajak
C, =6.5[nF]
79 | fo. = 570[kHz]
Zy, = 42.97[ Q]
710 | V, =20.02[V]
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it Acade:

I
b

i

g

8 dowAl e

81 | Al

8.2 | —300,0,4+300[V]
(a) n—1

83 |(b) m;=6
(c) m, = 0.8

84 | A=k

85 | (b) —1000, — 500, 0, + 500, + 1000[V]

)
)
)
(a) m
86 | (b) m
(c) 4m
(a) 2007}
87 | (b) 10074
(c) 1007}
(a) O7H
88 (b) —750[V]
89 | A

9 | A=
810 | A
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